

SOME OSCILLATION RESULTS FOR SECOND ORDER NEUTRAL TYPE DIFFERENCE EQUATIONS

E. THANDAPANI AND V. BALASUBRAMANIAN

(Communicated by Leonid Berezhansky)

Abstract. This paper is concerned with the oscillatory behavior of second order neutral difference equations. Four oscillation theorems for such equations are established and examples are given to illustrate the results.

1. Introduction

In this paper we are concerned with the oscillation problem of second order neutral type difference equation of the form

$$\Delta \left(a_n (\Delta(x_n + p_n x_{\tau(n)}))^\alpha \right) + q_n f(x_{\sigma(n+1)}) = 0 \quad (1.1)$$

where $n \in \mathbb{N}(n_0) = \{n_0, n_0 + 1, \dots\}$, n_0 is a positive integer and α is a ratio of odd positive integers. Further, we assume that the following conditions hold.

(H₁) $\{a_n\}$, $\{p_n\}$ and $\{q_n\}$ are positive real valued sequences with $p_n \geq 1$ for all $n \in \mathbb{N}(n_0)$, and $A(n_0) = \sum_{n=n_0}^{\infty} \frac{1}{a_n^{1/\alpha}} < \infty$;

(H₂) $\sigma(n)$ and $\tau(n)$ are strictly increasing sequences of integers on $\mathbb{N}(n_0)$ with $\lim_{n \rightarrow \infty} \sigma(n) = \lim_{n \rightarrow \infty} \tau(n) = \infty$;

(H₃) $f : \mathbb{R} \rightarrow \mathbb{R}$ is continuous and there exists a constant $L > 0$ such that $\frac{f(x)}{x^\alpha} \geq L$ for all $x \neq 0$.

By a solution of equation (1.1), we mean a real sequence $\{x_n\}$ defined and satisfies equation (1.1) for all $n \in \mathbb{N}(n_0)$. We consider only those solutions $\{x_n\}$ of equation (1.1) which satisfy $\sup\{|x_n| : n \geq N\} > 0$ for all $N \in \mathbb{N}(n_0)$. A solution of equation (1.1) is said to be oscillatory if it is neither eventually positive nor eventually negative, and otherwise it is called nonoscillatory.

In [1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 14, 15], the authors studied the oscillatory behavior of equation of the form (1.1) when $0 \leq p_n < 1$ and

$$\text{either } \sum_{n=n_0}^{\infty} \frac{1}{a_n^{1/\alpha}} = \infty \quad \text{or} \quad \sum_{n=n_0}^{\infty} \frac{1}{a_n^{1/\alpha}} < \infty.$$

Mathematics subject classification (2010): 39A11.

Keywords and phrases: second order, neutral type difference equation, oscillation.

In [13], the authors consider the following difference equation

$$\Delta(a_n(\Delta(x_n + p_n x_{\tau(n)}))^{\alpha}) + q_n x_{\sigma(n)}^{\beta} = 0, \quad n \in \mathbb{N}(n_0) \quad (1.2)$$

and established oscillation criteria for the equation (1.2) for the case

$$\sum_{n=n_0}^{\infty} \frac{1}{a_n^{1/\alpha}} < \infty, \quad 0 \leq p_n \leq p < \infty \quad \text{and} \quad \tau \circ \sigma = \sigma \circ \tau.$$

Clearly, the assumptions given in [13] are quite restrictive and now the problem is how to derive new oscillation tests for equation (1.1) without such conditions. Motivated by this observation, in this paper we establish some new oscillation criteria for the equation (1.1). In Section 2, we establish oscillation criteria for the equation (1.1) and in Section 3, we present some examples to illustrate the main results.

2. Oscillation Results

In this section, we establish four new oscillation results for equation (1.1) when

$$(H_4) \quad \tau(n) \geq n \quad \text{and} \quad \sigma(n+1) \leq n;$$

$$(H_5) \quad \sigma(n) \geq \tau(n) \geq n;$$

$$(H_6) \quad \sigma(n+1) \leq \tau(n) \leq n;$$

$$(H_7) \quad \tau(n) \leq n \quad \text{and} \quad \sigma(n+1) \geq n.$$

All the occurring functional inequalities are assumed to hold eventually, that is, they are satisfied for all n large enough. Define

$$\begin{aligned} A(n) &= \sum_{s=n}^{\infty} \frac{1}{a_s^{1/\alpha}}, \quad R(n) = \sum_{s=n_0}^{n-1} \frac{1}{a_s^{1/\alpha}}, \\ B(n) &= \frac{1}{p_{\tau^{-1}(n)}} \left(1 - \frac{1}{p_{\tau^{-1}(\tau^{-1}(n))}} \right), \\ C(n) &= \frac{1}{p_{\tau^{-1}(n)}} \left(1 - \frac{1}{p_{\tau^{-1}(\tau^{-1}(n))}} \frac{A(\tau^{-1}(\tau^{-1}(n)))}{A(\tau^{-1}(n))} \right), \\ D(n) &= \begin{cases} \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \frac{A^{\alpha^2-1}(n)}{A^{\alpha^2}(n+1)} \frac{1}{a_n^{1/\alpha}} & \text{if } \alpha \geq 1 \\ \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \frac{1}{A(n+1)} \frac{1}{a_n^{1/\alpha}} & \text{if } \alpha \leq 1, \end{cases} \\ E(n) &= \frac{1}{p_{\tau^{-1}(n)}} \left(1 - \frac{R(\tau^{-1}(\tau^{-1}(n)))}{p_{\tau^{-1}(\tau^{-1}(n))} R(\tau^{-1}(n))} \right), \end{aligned}$$

where τ^{-1} is the inverse function of τ ,

$$Q_n = q_n B^\alpha(\sigma(n)), \quad \bar{Q}_n = q_n C^\alpha(\sigma(n)).$$

Define

$$z_n = x_n + p_n x_{\tau(n)}. \tag{2.1}$$

We begin with the following lemma.

LEMMA 1. *Let z_n be defined by (2.1) with $z_n > 0$, $\Delta z_n > 0$ and $\Delta(a_n(\Delta z_n)^\alpha) \leq 0$ for all $n \in \mathbb{N}(n_0)$. Then for $\tau(n) \geq n$ and $B(n) > 0$, we have*

$$x_n \geq B(n)z_{\tau^{-1}(n)}, \quad n \in \mathbb{N}(n_0).$$

Proof. From (2.1), we have

$$z_n = x_n + p_n x_{\tau(n)}$$

or

$$x_n = \frac{1}{p_{\tau^{-1}(n)}} \left(z_{\tau^{-1}(n)} - x_{\tau^{-1}(n)} \right).$$

Since $\{z_n\}$ is nondecreasing and $x_{\tau(n)} < \frac{1}{p_n} z_n$, we obtain

$$x_n \geq B(n)z_{\tau^{-1}(n)}.$$

This completes the proof.

LEMMA 2. *Let z_n be defined by (2.1) with $z_n > 0$, $\Delta z_n < 0$ and $\Delta(a_n(\Delta z_n)^\alpha) \leq 0$ for all $n \in \mathbb{N}(n_0)$. Then for $A(n_0) < \infty$, $\tau(n) \geq n$ and $C(n) > 0$, we have*

$$x_n \geq C(n)z_{\tau^{-1}(n)}, \quad n \in \mathbb{N}(n_0).$$

Proof. From $\Delta(a_n(\Delta z_n)^\alpha) \leq 0$ for all $n \in \mathbb{N}(n_0)$, we have

$$\Delta z_s \leq \frac{a_n^{1/\alpha} \Delta z_n}{a_s^{1/\alpha}} \quad \text{for } s \geq n \geq n_0.$$

Summing the last inequality from ℓ to n and then letting $\ell \rightarrow \infty$, we obtain

$$0 \leq z_n + a_n^{1/\alpha} A(n) \Delta z_n$$

or

$$\Delta \left(\frac{z_n}{A(n)} \right) \geq 0 \quad \text{for } n \in \mathbb{N}(n_0).$$

From (2.1), we have

$$x_n = \frac{1}{p_{\tau^{-1}(n)}} \left(z_{\tau^{-1}(n)} - x_{\tau^{-1}(n)} \right)$$

$$\begin{aligned} &\geq \frac{1}{p_{\tau^{-1}(n)}} \left(z_{\tau^{-1}(n)} - \frac{1}{p_{\tau^{-1}(\tau^{-1}(n))}} \frac{A(\tau^{-1}(\tau^{-1}(n)))}{A(\tau^{-1}(n))} z_{\tau^{-1}(\tau^{-1}(n))} \right) \\ &\geq C(n)z_{\tau^{-1}(n)}. \end{aligned}$$

This completes the proof.

LEMMA 3. Let z_n be defined by (2.1) with $z_n > 0$, $\Delta z_n > 0$ and $\Delta(a_n(\Delta z_n)^\alpha) \leq 0$ for all $n \in \mathbb{N}(n_0)$. Then for $\tau(n) \leq n$ and $E(n) > 0$, we have

$$x_n \geq E(n)z_{\tau^{-1}(n)}, \quad n \in \mathbb{N}(n_0).$$

Proof. From the proof of Lemma 1, we have

$$x_n = \frac{1}{p_{\tau^{-1}(n)}} \left(z_{\tau^{-1}(n)} - x_{\tau^{-1}(n)} \right).$$

On the otherhand

$$z_n = z_{n_0} + \sum_{s=n_0}^{n-1} \frac{(a_s(\Delta z_s)^\alpha)^{1/\alpha}}{a_s^{1/\alpha}} \geq \left(a_n^{1/\alpha} \sum_{s=n_0}^{n-1} \frac{1}{a_s^{1/\alpha}} \right) \Delta z_n.$$

Hence

$$\Delta \left(\frac{z_n}{R(n)} \right) = \frac{R(n)\Delta z_n - \frac{z_n}{a_n^{1/\alpha}}}{R(n)R(n+1)} \leq 0.$$

Thus $\frac{z_n}{R(n)}$ is nonincreasing. Further

$$\begin{aligned} x_{\tau^{-1}(n)} &\leq \frac{1}{p_{\tau^{-1}(\tau^{-1}(n))}} z_{\tau^{-1}(\tau^{-1}(n))} \\ &\leq \frac{R(\tau^{-1}(\tau^{-1}(n)))}{p_{\tau^{-1}(\tau^{-1}(n))}} \frac{z_{\tau^{-1}(n)}}{R(\tau^{-1}(n))}. \end{aligned}$$

Therefore,

$$x_n \geq \frac{1}{p_{\tau^{-1}(n)}} \left(1 - \frac{R(\tau^{-1}(\tau^{-1}(n)))}{p_{\tau^{-1}(\tau^{-1}(n))}R(\tau^{-1}(n))} \right) z_{\tau^{-1}(n)},$$

or

$$x_n \geq E(n)z_{\tau^{-1}(n)}.$$

This completes the proof.

First we establish oscillation criteria for equation (1.1) when $\tau(n) \geq n$.

THEOREM 1. Assume conditions (H_1) - (H_4) hold. If there exists a positive non-decreasing function $\{\rho_n\}$ such that

$$\sum_{n=n_0}^{\infty} \left[L\rho_n Q_n - \frac{1}{(\alpha + 1)^{\alpha + 1}} \frac{(\Delta\rho_n)^{\alpha + 1}}{\rho_n^\alpha} a_{\tau^{-1}(\sigma(n))} \right] = \infty \tag{2.2}$$

and

$$\sum_{n=n_0}^{\infty} \left[LA^\alpha(n+1)\bar{Q}_n - D(n) \right] = \infty \tag{2.3}$$

then every solution of equation (1.1) is oscillatory.

Proof. Let $\{x_n\}$ be a nonoscillatory solution of equation (1.1). Without loss of generality, we may assume that $x_{\sigma(n)} > 0$ for all $n \geq n_1 \in \mathbb{N}(n_0)$. Then it follows from equation (1.1) that

$$\Delta \left(a_n (\Delta z_n)^\alpha \right) \leq -Lq_n x_{\sigma(n+1)}^\alpha \leq 0, \quad n \in \mathbb{N}(n_1). \tag{2.4}$$

Hence $\{a_n (\Delta z_n)^\alpha\}$ has one sign for all $n \geq n_1$. If $\Delta z_n > 0$ for all $n \geq n_1$, then from (2.1), we have from Lemma 1, that

$$x_n \geq B(n)z_{\tau^{-1}(n)}, \quad n \geq n_1. \tag{2.5}$$

It follows from (2.4) and (2.5) that

$$\Delta(a_n (\Delta z_n)^\alpha) + Lq_n B^\alpha(\sigma(n+1))z_{\tau^{-1}(\sigma(n+1))}^\alpha \leq 0, \quad n \in \mathbb{N}(n_1). \tag{2.6}$$

Define

$$u_n = \rho_n \frac{a_n (\Delta z_n)^\alpha}{z_{\tau^{-1}(\sigma(n))}^\alpha}, \quad n \geq n_1$$

then

$$\Delta u_n \leq -\rho_n Lq_n B^\alpha(\sigma(n+1)) + \frac{\Delta \rho_n}{\rho_{n+1}} u_{n+1} - \frac{\rho_n}{\rho_{n+1}} u_{n+1} \frac{\Delta z_{\tau^{-1}(\sigma(n))}^\alpha}{z_{\tau^{-1}(\sigma(n))}^\alpha}, \quad n \geq n_1. \tag{2.7}$$

By Mean Value Theorem

$$\Delta z_{\tau^{-1}(\sigma(n))}^\alpha \leq \begin{cases} \alpha z_{\tau^{-1}(\sigma(n+1))}^{\alpha-1} \Delta z_{\tau^{-1}(\sigma(n))} & \text{if } \alpha \geq 1 \\ \alpha z_{\tau^{-1}(\sigma(n))}^{\alpha-1} \Delta z_{\tau^{-1}(\sigma(n))} & \text{if } \alpha \leq 1. \end{cases}$$

Using the last inequality in (2.7) and then using the nonincreasing nature of $\Delta z_{\tau^{-1}(\sigma(n))}$ and the nondecreasing nature of $a_{\tau^{-1}(\sigma(n))}^{1/\alpha} z_{\tau^{-1}(\sigma(n))}$ we obtain

$$\Delta u_n \leq -L\rho_n q_n B^\alpha(\sigma(n+1)) + \frac{\Delta \rho_n}{\rho_{n+1}} u_{n+1} - \frac{\alpha \rho_n}{\rho_{n+1}^{1+1/\alpha}} \frac{u_{n+1}^{(\alpha+1)/\alpha}}{a_{\tau^{-1}(\sigma(n))}^{1/\alpha}}, \quad n \geq n_1. \tag{2.8}$$

By using the inequality

$$AV - BV^{1+1/\alpha} \leq \frac{\alpha^\alpha A^{\alpha+1}}{(\alpha+1)^{\alpha+1} B^\alpha} \quad \text{for } A \geq 0, \quad B > 0 \text{ and } V > 0,$$

we obtain

$$\Delta u_n \leq -L\rho_n q_n B^\alpha(\sigma(n+1)) + \frac{1}{(\alpha+1)^{\alpha+1}} \frac{(\Delta\rho_n)^{\alpha+1}}{\rho_n^\alpha} a_{\tau^{-1}(\sigma(n))}, \quad n \geq n_1.$$

Summing the last inequality from n_1 to n and then letting $n \rightarrow \infty$, we obtain

$$\sum_{n=n_1}^{\infty} \left[L\rho_n q_n B^\alpha(\sigma(n+1)) - \frac{1}{(\alpha+1)^{\alpha+1}} \frac{(\Delta\rho_n)^{\alpha+1}}{\rho_n^\alpha} a_{\tau^{-1}(\sigma(n))} \right] \leq u_{n_1} < \infty$$

which contradicts the assumption (2.2). Next, consider the case $\Delta z_n < 0$ for all $n \in \mathbb{N}(n_1)$. Define

$$w_n = \frac{a_n(\Delta z_n)^\alpha}{z_n^\alpha}, \quad n \geq n_1. \tag{2.9}$$

Then $w_n < 0$ for $n \geq n_1$. Since $\Delta(a_n(\Delta z_n)^\alpha) \leq 0$, we have

$$a_s^{1/\alpha} \Delta z_s \leq a_n^{1/\alpha} \Delta z_n, \quad s \geq n \geq n_1.$$

Dividing the last inequality by $a_s^{1/\alpha}$ and then summing the resulting inequality from n to ℓ , we obtain

$$z_{\ell+1} \leq z_n + a_n^{1/\alpha} \Delta z_n \sum_{s=n}^{\ell} \frac{1}{a_s^{1/\alpha}}, \quad \ell \geq n \geq n_1. \tag{2.10}$$

Letting $\ell \rightarrow \infty$ in (2.10), we obtain

$$\frac{a_n^{1/\alpha} \Delta z_n A(n)}{z_n} \geq -1, \quad n \geq n_1. \tag{2.11}$$

From (2.9) and (2.11), we obtain

$$-1 \leq w_n A^\alpha(n) \leq 0, \quad n \geq n_1. \tag{2.12}$$

Also from (2.11), we have

$$\frac{\Delta z_n}{z_n} \geq -\frac{1}{A(n)a_n^{1/\alpha}}, \quad n \geq n_1. \tag{2.13}$$

From Lemma 2, we have

$$x_n \geq C(n)z_{\tau^{-1}(n)}, \quad n \geq n_1. \tag{2.14}$$

From (2.4) and (2.14), we obtain

$$\Delta\left(a_n(\Delta z_n)^\alpha\right) + Lq_n C^\alpha(\sigma(n+1))z_{\tau^{-1}(\sigma(n+1))}^\alpha \leq 0, \quad n \geq n_1. \tag{2.15}$$

From (2.9) and (2.15) we have

$$\Delta w_n \leq -L\bar{Q}_n - w_n \frac{\Delta z_n^\alpha}{z_{n+1}^\alpha}$$

$$\leq -L\bar{Q}_n - \frac{\alpha}{a_n^{1/\alpha}} w_n^{1+1/\alpha}, \quad n \geq n_1. \tag{2.16}$$

Multiplying (2.16) by $A^\alpha(n+1)$ and summing from n_1 to $n-1$ and then using the summation by parts formula, we obtain

$$\begin{aligned} \sum_{s=n_1}^{n-1} LA^\alpha(s+1)\bar{Q}_s &\leq A^\alpha(n_1) - A^\alpha(n)w_n \\ &+ \sum_{s=n_1}^{n-1} \left[\Delta A^\alpha(s)w_s - \frac{\alpha A^\alpha(s+1)}{a_s^{1/\alpha}} w_s^{(\alpha+1)/\alpha} \right]. \end{aligned} \tag{2.17}$$

By Mean Value Theorem, we have

$$\Delta A^\alpha(s)w_s \leq \begin{cases} \frac{\alpha A^{\alpha-1}(s)}{a_s^{1/\alpha}} (-w_s) & \text{if } \alpha \geq 1 \\ \frac{\alpha A^{\alpha-1}(s+1)}{a_s^{1/\alpha}} (-w_s) & \text{if } \alpha < 1. \end{cases} \tag{2.18}$$

From (2.17) and (2.18) we obtain for $n \geq n_1$,

$$\begin{aligned} \sum_{s=n_1}^{n-1} LA^\alpha(s+1)\bar{Q}_s &\leq A^\alpha(n_1) + 1 \\ &+ \sum_{s=n_1}^{n-1} \left[\frac{\alpha A^{\alpha-1}(s)}{a_s^{1/\alpha}} (-w_s) - \frac{\alpha A^\alpha(s+1)}{a_s^{1/\alpha}} (-w_s)^{(\alpha+1)/\alpha} \right] \end{aligned} \tag{2.19}$$

for $\alpha \geq 1$, and for $0 < \alpha < 1$, we have for $n \geq n_1$,

$$\begin{aligned} \sum_{s=n_1}^{n-1} LA^\alpha(s+1)\bar{Q}_s &\leq A^\alpha(n_1) + 1 \\ &+ \sum_{s=n_1}^{n-1} \left[\frac{\alpha A^{\alpha-1}(s+1)}{a_s^{1/\alpha}} (-w_s) - \frac{\alpha A^\alpha(s+1)}{a_s^{1/\alpha}} (-w_s)^{(\alpha+1)/\alpha} \right]. \end{aligned} \tag{2.20}$$

By using the inequality

$$AV - BV^{(\alpha+1)/\alpha} \leq \frac{\alpha^\alpha A^{\alpha+1}}{(\alpha+1)^{\alpha+1} B^\alpha} \text{ for } A \geq 0, B > 0 \text{ and } V > 0,$$

we obtain from (2.19) and (2.20) that

$$\sum_{s=n_1}^{n-1} \left[LA^\alpha(s+1)\bar{Q}_s - D(s) \right] \leq A^\alpha(n_1) + 1.$$

Letting $n \rightarrow \infty$ in the last inequality, we obtain a contradiction with (2.3). This completes the proof.

THEOREM 2. Assume conditions (H_1) - (H_3) and (H_5) hold. If there exists a positive nondecreasing function $\{\rho_n\}$ such that

$$\sum_{n=n_0}^{\infty} \left[L\rho_n Q_n - \frac{1}{(\alpha + 1)^{\alpha+1}} \frac{(\Delta\rho_n)^{\alpha+1}}{\rho_n^\alpha} a_n \right] = \infty \tag{2.21}$$

and

$$\sum_{n=n_0}^{\infty} \left[LA^\alpha(n + 1)\bar{Q}_n \left(\frac{A(\tau^{-1}(\sigma(n + 1)))}{A(n + 1)} \right)^\alpha - D(n) \right] = \infty \tag{2.22}$$

then every solution of equation (1.1) is oscillatory.

Proof. Let $\{x_n\}$ be a nonoscillatory solution of equation (1.1). Proceeding as in the proof of Theorem 1, we have (2.4), and thus there exist two possible cases of the sign of $\{\Delta z_n\}$. If $\Delta z_n > 0$, then by Lemma 1, we obtain

$$\Delta \left(a_n (\Delta z_n)^\alpha \right) + Lq_n B^\alpha(\sigma(n + 1)) z_{\tau^{-1}(\sigma(n+1))}^\alpha \leq 0. \tag{2.23}$$

Define

$$u_n = \rho_n \frac{a_n (\Delta z_n)^\alpha}{z_n^\alpha}.$$

Similar as in the proof of Theorem 1 we obtain a contradiction to (2.21).

If $\Delta z_n < 0$, then by using Lemma 2, we obtain

$$x_n \geq C(n) z_{\tau^{-1}(n)}. \tag{2.24}$$

Next, define w_n by (2.9) and then by (2.24) we obtain

$$\begin{aligned} \Delta w_n &= \frac{\Delta \left(a_n (\Delta z_n)^\alpha \right)}{z_{n+1}^\alpha} - \frac{a_n (\Delta z_n)^\alpha}{z_n^\alpha z_{n+1}^\alpha} \Delta z_n^\alpha \\ &\leq -Lq_n \frac{C^\alpha(\sigma(n + 1)) z_{\tau^{-1}(\sigma(n+1))}^\alpha}{z_{n+1}^\alpha} - \frac{\alpha}{a_n^{1/\alpha}} w_n^{1+1/\alpha}, \quad n \geq n_1. \end{aligned}$$

Since $\{\frac{z_n}{A(n)}\}$ is nondecreasing, we have from the last inequality

$$\Delta w_n \leq -Lq_n C^\alpha(\sigma(n + 1)) \frac{A^\alpha(\tau^{-1}(\sigma(n + 1)))}{A^\alpha(n + 1)} - \frac{\alpha}{a_n^{1/\alpha}} w_n^{1+1/\alpha}, \quad n \geq n_1.$$

The rest of the proof is similar to that of Theorem 1 and so is omitted. The proof is now complete.

Now we shall establish some oscillation results for equation (1.1) for the case $\tau(n) \leq n$.

THEOREM 3. Assume conditions (H_1) – (H_3) and (H_6) hold. If there exists a positive nondecreasing function $\{\rho_n\}$ such that

$$\sum_{n=n_0}^{\infty} \left[L\rho_n q_n E^\alpha(\sigma(n+1)) - \frac{1}{(\alpha+1)^{\alpha+1}} \frac{(\Delta\rho_n)^{\alpha+1}}{\rho_n^\alpha} a_{\tau^{-1}(\sigma(n))} \right] = \infty \tag{2.25}$$

and

$$\sum_{n=n_0}^{\infty} \left[Lq_n A^\alpha(n+1) B^\alpha(\sigma(n+1)) - D(n) \right] = \infty \tag{2.26}$$

hold, then every solution of equation (1.1) is oscillatory.

Proof. Let $\{x_n\}$ be a nonoscillatory solution of equation (1.1). Without loss of generality, we may assume that $x_n > 0$, $x_{\tau(n)} > 0$, and $x_{\sigma(n+1)} > 0$ for all $n \geq n_1 \in \mathbb{N}(n_0)$. From equation (1.1), we have (2.4). Hence there are two possible cases for the sign of $\{\Delta z_n\}$. If $\Delta z_n > 0$ for all $n \geq n_1$, then by Lemma 3, we obtain

$$x_n \geq E(n) z_{\tau^{-1}(n)}. \tag{2.27}$$

From (2.4) and (2.27), we have

$$\Delta \left(a_n (\Delta z_n)^\alpha \right) + Lq_n E^\alpha(\sigma(n+1)) z_{\tau^{-1}(\sigma(n+1))}^\alpha \leq 0, \quad n \geq n_1.$$

Define

$$v_n = \frac{\rho_n a_n (\Delta z_n)^\alpha}{z_{\tau^{-1}(\sigma(n))}^\alpha}.$$

Similar to the proof of Theorem 1, we obtain a contradiction to (2.25).

If $\Delta z_n < 0$, then from the definition of z_n , we have

$$x_n \geq \frac{z_{\tau^{-1}(n)}}{p_{\tau^{-1}(n)}} - \frac{z_{\tau^{-1}(\tau^{-1}(n))}}{p_{\tau^{-1}(n)} p_{\tau^{-1}(\tau^{-1}(n))}} \geq \frac{1}{p_{\tau^{-1}(n)}} \left(1 - \frac{1}{p_{\tau^{-1}(\tau^{-1}(n))}} \right) z_{\tau^{-1}(n)}.$$

The remainder of the proof is similar to that of Theorem 1 and hence is omitted. The proof is now complete.

THEOREM 4. Assume conditions (H_1) – (H_3) and (H_7) hold. If there exists a positive nondecreasing function $\{\rho_n\}$ such that

$$\sum_{n=n_0}^{\infty} \left[L\rho_n q_n E^\alpha(\sigma(n+1)) - \frac{1}{(\alpha+1)^{\alpha+1}} \frac{(\Delta\rho_n)^{\alpha+1}}{\rho_n^\alpha} a_n \right] = \infty \tag{2.28}$$

and

$$\sum_{n=n_0}^{\infty} \left[Lq_n A^\alpha(n+1) C^\alpha(\sigma(n+1)) \left(\frac{A(\tau^{-1}(\sigma(n+1)))}{A(n)} \right)^\alpha - D(n) \right] = \infty \tag{2.29}$$

hold, then every solution of equation (1.1) is oscillatory.

Proof. Let $\{x_n\}$ be a nonoscillatory solution of equation (1.1). Without loss of generality, we may assume that $x_n > 0$, $x_{\tau(n)} > 0$, and $x_{\sigma(n)} > 0$ for all $n \geq n_1 \in \mathbb{N}(n_0)$. From equation (1.1), we have

$$\Delta\left(a_n(\Delta z_n)^\alpha\right) \leq -Lq_n x^\alpha(\tau^{-1}(\sigma(n+1))) \leq 0, \quad n \in \mathbb{N}(n_1). \tag{2.30}$$

Therefore, there are two possible cases for the sign of $\{\Delta z_n\}$. If $\Delta z_n > 0$ for all $n \geq n_1$, then from Lemma 3, we have

$$x_{\sigma(n+1)}^\alpha \geq E^\alpha(\sigma(n+1))z_{\tau^{-1}(\sigma(n+1))}^\alpha. \tag{2.31}$$

Define

$$v_n = \frac{\rho_n a_n (\Delta z_n)^\alpha}{z_n^\alpha}.$$

Proceeding as in the proof of Theorem 1, we obtain a contradiction to (2.28).

If $\Delta z_n < 0$ for $n \geq n_1$, then as in the proof of Theorem 3, we obtain

$$x_n \geq B(n)z_{\tau^{-1}(n)}.$$

On the other hand, by the proof of Lemma 1, we see that $\frac{z_n}{A(n)}$ is nondecreasing. Thus, we have

$$\frac{z_{\tau^{-1}(\sigma(n+1))}}{z_n} \geq \frac{A(\tau^{-1}(\sigma(n+1)))}{A(n)}.$$

The rest of the proof is similar to that of Theorem 1 and hence is omitted. The proof is now complete.

3. Examples

In this section, we present some examples to illustrate our main results.

EXAMPLE 1. Consider the difference equation

$$\Delta\left(2^n \Delta(x_n + 8x_{n+2})\right) + 54(2^n)x_{n^2-1} = 0, n \geq 1. \tag{3.1}$$

Here $\alpha = 1$, $L = 1$, $\tau(n) = n + 2$, $\sigma(n + 1) = n^2 - 1$,

$$A(n) = \frac{1}{2^{n-1}}, Q_n = 189(2^{n-5}), \overline{Q}_n = 27(2^{n-3}) \quad \text{and} \quad D(n) = \frac{1}{4}.$$

By taking $\rho_n = 1$, we see that all conditions of Theorem 2.1 are satisfied and hence every solution of equation (3.1) is oscillatory. In fact $\{x_n\} = \{(-1)^n\}$ is one such solution of equation (3.1).

EXAMPLE 2. Consider the difference equation

$$\Delta\left(2^n\Delta(x_n + 8x_{n-2})\right) + 54(2^n)x_{n^2-1} = 0, n \geq 1. \quad (3.2)$$

Here $\alpha = 1$, $L = 1$, $\tau(n) = n - 2$, $\sigma(n + 1) = n^2 - 1$,

$$E(n) = \frac{1}{8}\left(1 - \frac{1}{32}\frac{2^{n+3} - 1}{2^{n+1} - 1}\right) \quad \text{and} \quad A(n) = \frac{1}{2^{n-1}}.$$

By taking $\rho_n = 1$, we see that all conditions of Theorem 2.4 are satisfied and hence every solution of equation (3.2) is oscillatory. In fact $\{x_n\} = \{(-1)^n\}$ is one such solution of equation (3.2).

We conclude this paper with the following remark.

REMARK 1. The results obtained here improve some of the existing results in the literature. Also the theorems obtained in [13] cannot be applied to equations (3.1) and (3.2) since $\tau \circ \sigma \neq \sigma \circ \tau$.

Further the results obtained in this paper can be extended to

$$\Delta(a_n|\Delta z_n|^{\alpha-1}\Delta z_n) + q_n|x_{\sigma(n)}|^{\alpha-1}x_{\sigma(n)} = 0$$

where $\alpha > 0$, without any difficulty, and hence the details are left to the reader.

Acknowledgements. The authors thank the referees for their suggestions and comments which improved the content of the paper.

REFERENCES

- [1] R.P. AGARWAL, *Difference Equations and Inequalities*, Second Edition, Marcel Dekker, New York, 2000.
- [2] R.P. AGARWAL, M. BOHNER S.R. GRACE, AND D. O'REGAN, *Discrete Oscillation Theory*, Hindawi Publ. Corp., New York, 2005.
- [3] J. JIANG, *Oscillation of second order nonlinear neutral delay difference equations*, Appl. Math. Comp., **146** (2003), 791–801, doi:10.1016/S0096-3003(02)00631-8.
- [4] R. KOPLATADZE, G. KRINIKADZE AND I.P. STAVROULAKIS, *Oscillation of second order linear difference equations with deviating arguments*, Adv. Math. Sci. Appl., **12**, (1) (2002), 217–226.
- [5] H.J. LI AND C.C. YEH, *Oscillation criteria for second order neutral difference equations*, Comp. Math. Appl., **36** (1998), 123–132, doi:10.1016/S0898-1221(98)80015-1.
- [6] J. LU, *Oscillation criteria for second order neutral difference equations*, Ann. Diff. Eqns., **14** (1998), 262–266.
- [7] Y.G. SUN AND S.H. SAKER, *Oscillation for second order nonlinear neutral delay difference equations*, Appl. Math. Comput., **163** (2005), 909–918, doi:10.1016/j.amc.2004.04.017.
- [8] E. THANDAPANI, Z. LIU, R. ARUL AND P.S. RAJA, *Oscillation and asymptotic behavior of second order difference equations with nonlinear neutral terms*, Appl. Math. E-Notes, **4** (2004), 59–67.
- [9] E. THANDAPANI AND K. MAHALINGAM, *Oscillation and nonoscillation of second order neutral delay difference equations*, Czech. Math.J., **53**, (128) (2003), 935–947, doi:10.1023/B:CMAJ.0000024532.03496.b2.
- [10] E. THANDAPANI AND K. MAHALINGAM, *Necessary and sufficient conditions for oscillation of second order neutral delay difference equations*, Tamkang J. Math., **34**, (2) (2003), 137–145.

- [11] E. THANDAPANI AND P. MOHANKUMAR, *Oscillation and nonoscillation of nonlinear neutral delay difference equations*, Tamkang J.Math., **38**, (4) (2007), 323–333.
- [12] E. THANDAPANI, S. PANDIAN AND R.K. BALASUBRAMANIAM, *Oscillation of solutions of nonlinear neutral difference equations with nonlinear neutral term*, Far-East J. Appl. Math., **15**, (1) (2004), 47–62.
- [13] E. THANDAPANI AND S. SELVARANGAM, *Oscillation theorems of second order quasilinear neutral difference equations*, J. Math. Comput. Sci., **2**, (4) (2012), 866–879.
- [14] E. THANDAPANI, P. SUNDARAM, J.R. GRAEF, AND P.W. SPIKES, *Asymptotic properties of solutions of nonlinear second order neutral delay difference equations*, Dyn. Sys. Appl., **4** (1995), 125–136.
- [15] D.M. WANG AND Z.T. XU, *Oscillation of second order quasilinear neutral delay difference equations*, Acta Math. Appl. Sinica, **27**, (1) (2011), 93–104, doi:10.1007/s10255-011-0043-4.

(Received December 7, 2012)

(Revised May 30, 2013)

E. Thandapani
Ramanujan Institute For Advanced Study in Mathematics
University of Madras
Chennai-600005
India
e-mail: ethandapani@yahoo.co.in

V. Balasubramanian
Department of Mathematics
Periyar University
Salem-636 011
India
e-mail: vbmaths@gmail.com